Y W W =E K &EM
i

5 F
B % dn Bo

5

iE

A

T

g oSN BN F R
wmooR*H FE EENAE >

i

=

ZX 58 il £ 7= dn WA B IE B

H

& 2: 2020312304000907

ROSE Systemtechnik GmbH
Erbeweg 13 - 15, 32457 Porta Westfalica, Germany
ROSE Systemtechnik GmbH
Erbeweg 13 - 15, 32457 Porta Westfalica, Germany

Phoenix Mecano (India) Private Limited

Plant - lll, GatNo 408, 410 & 412, Village Urse, Taluka Maval,
Talegaon Urse Road, Dist Pune - 410 506 India
E agiabic]

05.XX XX XX # 15. XX XX XX

Ex db eb ia [ia] mb IIC T4/T5/T6 Gb,

Ex tb IIIC T85°C/T100°C/T135°C Db

GB/T 3836.1-2021, GB/T 3836.2-2021, GB/T 3836.3-2021,
GB/T 3836.4-2021, GB/T 3836.9-2021, GB/T 3836.31-2021

BISCiE + A T E + IR B

RS SS CNCA-C23-01: 2019 (SREIEF~RIAIESCIERRN BHIRAES)
#1 CNEX-C2301-2019 (ZRiEIEFSRIAESIEEAN RHRES) MWEK,

FEREXESINE (£410) .
ERIEEH: 2020511 B 13 H

SRABRHR: 2023502 B 07 H

BHHEE: 202511 8128

EHESBASTESNERE RSB ERGHRS.

A,

ccce

/;2\ e

AP S AR

-Q,/
B AR IR %\’iﬁﬁ’jﬁﬁﬁﬁﬁ/\j G T,

M4k www.ccc—-chex.com
ccc.china—ex.com

cN 0022875

Moyt: PEAEAEMETMAEILRR20S HREI4R%5 : 473008
Big: 0377-63239734 HBFE: ccc@cn-ex.com



FrRiEX(ER:

o1l

1. NEPBESE=RUT:
ErE=s WUE

XX.

*%

*k

Jede

(1)

(2)

(3)

(4)

(1
(2)
(3)

: RIS, MR
N
C R

4) : 8

- 05.XX XX XX F1&%RY, {BHlhE
15 XX XX XX AALBBEE, 1BHls
SNBSS LA $BHIINERIR AR SR

2R 5 Hl 1 7 mm
( PRTT )

S: 2020312304000907

SAAEIE 3

B 1

=
~
=

- BAFEETHIE (W)
= < = L2
j=2=] =S & (mm) | & (mm) |B& (mm) BT 40K
1 | XX.06 06 03 64 58 34 5
2 | XX.06 10 03 64 98 34 8
3 | XX.06 1503 64 150 34 11
4 | XX.08 08 03 80 75 57 10
5 | XX.08 1306 80 125 57 15
6 | XX.08 1806 80 175 57 20
7 | XX.08 25 05 80 250 52 25
8 | XX.101008 100 100 81 19
9 | XX.1016 08 100 160 81 26
10 | XX.10 20 08 100 200 81 31
SRABEHE: 2023502807 H

CNEX,

ccc

FEBEBJF%EE—\.

/ e&?\ﬂ JZ\\

(S*

= Mqﬂ%f\i

AP

,_p'@'ﬁ);l‘_ﬁ I;E IN\N= —] CNAS :R%DUCT

v CNAS C208-P

Rdk: www.ccc—cnex.com
cce.china—ex.com

Mtk . FENEAEEHmREILE205
Big: 0377-63239734

BREI4%ET: 473008
MBFE: ccc@cn-ex.com



K 5 Hll P 7 WA EIE B
( BT )

] S: 2020312304000907

H
r
A

11 XX.12 1208 120 122 81 24
12 XX.121209 120 122 91 26
13 XX.12 22 08 120 220 81 38
14 XX.12 22 09 120 220 o1 40
15 xXX12 22 12 120 220 121 45
16 XX.12 36 08 120 360 81 57
17 XX.14 14 09 140 140 o1 32
18 XX.14 20 09 140 200 91 42
19 XX.16 16 09 160 160 91 39
20 XX.16 26 09 160 260 91 56
21 XX.16 36 09 160 360 91 73
22 XX.16 56 09 160 560 91 107
23 XX.18 18 10 180 180 101 49
24 XX.18 28 10 180 280 101 68
25 XX.2310 11 230 100 1M1 45
26 XX.2320 11 232 202 111 68
27 XX.23 20 18 232 202 181 92
28 xX.23 28 11 230 280 111 86
29 XX.23 33 11 230 330 111 97
30 XX.23 33 18 230 330 181 127
31 XX.2340 11 230 400 11 113
32 XX.23 40 23 230 400 225 208
33 XX.23 60 11 230 600 11 159
34 XX.31 40 11 313 404 111 145
35 XX.31 4014 313 404 141 160
36 XX.31 40 18 313 404 181 183
37 XX.31 4023 313 404 227 208
38 XX.31 60 11 310 600 111 199
39 XX.31 60 18 310 600 181 246
40 XX.60 60 20 600 600 201 428
BASE:

PR BHE: 202302807 H

/ /}\ i /‘47%*\%

5‘3‘

* “""i
ﬁ h Y ok
Fﬁﬁﬁﬁﬁﬁﬁ—u ﬁﬁ?ﬁffﬁ q NP5,

PIHE: www.ccec—cnex.com Hodlt: ESAEAEMATMEILE205 HREI4%A5: 473008
cce.china-ex.com i%: 0377-63239734 BB%5: ccc@cnh—ex.com




tH

X o il 1% 7 fm WA EIE B
( B3I )

& 2: 2020312304000907

BERBE <1500V
HERR A 500A
SURHINE B 300mm?

FPEER BA 150mm?
ISR IIAE | M6x60, M8x50, M10x60, M12x80

IMNERE:

-55 °C~+90 °C HSEiRmD
-40 °C~+90 °C FEaER
-40 °C~+90 °C HER&ERE
20 °C~+85 °C &l T RBE
-50 °C~+85°C HrESTkERTRE
-20 °C~+85°C HHIRIEE
BhiP<ER . IP66

B5IRtRE: Ex db eb ia[ia] mb IIC T4/T5/T6 Gb,

Ex tb IIIC T85°C/T100°C/T135°C Db
i RS RRE R ETARIEATEC A OIRIE Ex ST BRI,

- S E MR N WS ER RSB R,
2, ReEMFY:
- DEFRAEH.

ABHE: 2023502 H07 H ____\ ) E _ .
1 : .
S EZN 7(% A 3

£ S 2)
e \& %/ P
e EMERRRET G ARA T CYaS e,

M4k : www.ccc—cnex.com Mok FEAEAREMETREILE20S HRELZRAS: 473008
cce.china—ex.com Hi%: 0377-63239734 Hi$H: ccc@cn-ex.com




H

o [ 3R 98 7 B A A B
e

& B: 2020312304000907

3, EBREAIRS:
- FRERIR{ISIRE: CQST2006C008G, CQST2006C008G/01
- T/ feEHkE: CN2020Q010255

4, IEPREER:

- 2023 £ 02 B 07 BHE 1 X%
1) FRIANERERERE.

MAEERE: 2023802807 H

ﬂi/\ FE - /&%f\i

P * e

E'eiBHlW%%w nﬁﬁﬁ'ﬁﬁ/&ﬁ] CNAD Lo

Mik: www.ccc—-cnex.com Mttt PEAEEBEETHSIEE20S BRI 45 : 473008
ccc.china—-ex.com HiE: 0377-63239734 BE#8: ccc@cn-ex.com




